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TEDOB | (H2F10AFER) | {13410 5 85 5 |H26 410 B B 5 | H274F 10 A B 15 | H284E 10 5 B 5 |H204E 10 B B 25 | H30E 10 BB 25 | RISE10 Bes

IR REEANT 8,973,510 8,684 15,618 16,256 16,879 17,481 18,142 18,819
IR 31| 4,185,878 300 588 610 651 685 724 743
i 9 HEART 4,994,557 566 1015 1,052 1084 1119 1,154 1,159
iR JIE 1,425,512 62 193 199 207 219 216 227
i 9 AR 846,980 26 69 70 78 81 83 85
i 9 AR 557,745 27 43 45 49 48 49 52
iR NAR 1,223,537 60 115 119 119 124 127 130
SWzE | SWERFF 3,417,549 190 441 47 505 527 539 552
SWv=E (| Be 1,165,105 38 90 90 95 96 102 101
Sv=E | 1,643,085 52 119 125 133 140 145 152
ILVFE (S 860,591 27 62 65 67 68 69 69
AV ESE 'S 108,226 2 5 5 4 6 5 5
FE FENT 2,844,312 206 477 500 526 541 555 565
FE 3 704,476 8 26 30 33 35 36 38
FE —= 236,559 2 10 11 10 9 8 7
FE WE 1,449,814 47 134 143 147 150 159 158
FE AREZE 326,908 13 17 17 16 16 18 19
FE fELL 136,110 2 5 5 5 6 5 6
FE J\BTiE 413,636 5 11 13 11 10 11 12
FE &R 104,474 1 2 4 4 4 4 3
KFE KEAFF 940,838 59 109 110 115 118 122 127
KFE = v 271,172 4 6 6 7 7 9 9
KFE i) 601,541 20 67 74 81 82 81 86
KPE BRI 398,519 6 31 30 28 29 30 32
KFE FRE 229,033 1 7 8 8 9 10 9
KFE TE 528,667 7 30 30 27 31 29 29
FHE FHEXRT 899,667 74 138 149 147 152 158 163
FHE = 149,779 2 3 3 3 4 3 3
FHE KHE 288,655 3 13 14 12 14 13 13
FHE HAR 393,803 10 25 26 30 30 30 28
FHE kil 275,779 6 18 16 17 18 16 15
HiiE RIAEAR T 763,658 71 116 120 121 119 122 123
HiiE = 581,034 36 105 109 110 115 122 125
HiiE AH 400,741 10 29 31 30 32 34 36
HiiE RE 173,603 8 8 8 7 8 8 8
HiiE JBH 89,032 2 4 4 4 3 3 3
FolE FRRE AT 1,223,481 99 163 169 178 187 196 203
15 BiE 784,502 50 102 101 99 102 97 97
15 TH 73,713 2 5 6 6 6 6 6
15 =+ 386,028 17 32 32 33 33 36 39
FolE #1 182,839 2 8 7 7 7 7 7
15 PN 1,114,444 50 113 121 125 133 141 146
A F B F AT 673,964 53 114 114 115 17 119 123
A F R 189,111 1 3 3 3 4 4 5
E33 REAT 570,326 45 86 87 83 86 86 90
E33 ] 279,480 10 21 21 24 25 24 23
E33 EA 213,724 4 16 16 17 19 18 16
E33 WA 524,138 22 53 56 55 58 58 60
E33 Eif) 204,875 17 26 27 28 28 30 29
E33 RH 169,504 8 15 16 17 15 15 15
E33 1F30 190,402 7 12 13 13 14 15 17
EiEs] AT 888,336 101 169 178 179 188 189 193
EiEs] =% 226,721 4 12 12 12 14 16 16
EiEs] FrHH 265,141 1 7 7 11 10 9 8
EiEs] 35| 644,467 16 34 39 41 38 42 46
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A g TR |H134E10 A B | H26 5 10 A B i | H27EE 10 A B i [H28 4R 10 A BF s |H29E 10 A B s | HI0E10 AR | RISE10A B

EiEs] =H 287,058 4 21 22 23 22 22 21
EiEs] i 62,727 2 4 4 4 5 4 4
PN KBRAFF 6,389,980 2600 3974 4,081 4173 4298 4,374 4,455
KB R 1,612,319 37 97 95 105 13 120 131
KB F#H 862,946 17 32 33 35 37 38 41
R REBAT 2,183,740 331 644 679 703 724 739 762
R EER 143,345 0 3 3 3 2 3 3
R =i 104,850 0 7 7 9 8 7 7
R 85 88,669 4 6 6 6 6 6 6
R E=fin 115,488 3 9 9 8 8 8 9
R MEART 1,490,127 305 513 513 531 552 556 566
R =G 1,029,626 38 102 116 17 130 136 136
R 7T 609,989 14 41 46 44 43 49 51
R BHE 540,257 12 32 36 37 40 38 a4
R R 111,020 1 6 7 8 7 7 9
R % 1,105,041 44 102 103 110 114 120 126
R it 203,760 1 8 8 9 9 9 8
R BE% 174,159 1 3 5 4 5 6 5
R 20 180,607 6 8 9 9 9 9 9
wWE IMA 143,547 3 5 5 5 4 4 4
=R RERAT 785,988 64 114 17 116 121 125 128
=R B 535,034 18 43 45 44 46 45 44
=R HIE 79,706 0 3 3 3 3 3 3
KiE KERT 858,482 35 104 105 107 108 13 113
KiE ER 388,104 11 31 31 31 32 32 32
Kig iR 164,191 1 4 4 5 6 6 7
FoarL FEBILAT 726,467 60 125 123 127 127 129 130
Nl 2l 156,174 7 1 1 1 1 10 9
FoarL k%] 67,243 0 2 2 2 1 2 2
gL E 52,314 2 4 4 4 4 4 4
Ey = ZHEART 3,670,873 779 1417 1,504 1571 1611 1,647 1,673
Ey = -5 793,280 13 47 48 46 47 52 53
Ey = + M 614,794 6 25 26 28 32 31 30
Ey = I3 1,566,085 39 126 129 136 137 141 144
Ey = 215 765,687 31 75 75 76 77 81 81
i EARFT 536,062 36 79 81 83 85 83 79
=3 HABR 226,550 4 10 12 13 13 12 14
=3 A8 177,491 3 8 8 9 8 9 8
i A 589,863 27 65 65 67 66 67 70
i ik 245,180 3 9 9 10 1 1 13
=3 REE? 79,578 1 2 3 3 3 3 3
Iz 8 It B2 AN FF 966,109 68 122 128 131 132 137 140
Iz 8 XiE 385,021 7 20 20 20 22 22 22
Iz 8 il 224,032 1 9 10 10 12 13 13
Iz 8 AR 348,085 7 20 21 21 21 23 25
Iz & (=1t 157,526 4 8 7 7 7 7 7
B BHAKRT 470,089 39 87 87 89 90 92 96
B H4E 190,821 1 5 6 5 6 6 7
B E§ 145,404 2 7 8 8 8 10 10
2R SRR 723,223 77 149 145 148 153 149 153
iR IR 235,147 4 10 9 9 1 12 1
iR tE 135,960 2 7 7 7 6 6 6
iR W5 75,458 0 2 3 2 2 2 2
=l ELAFT 508,027 36 75 77 79 83 84 80
=] fiE 127,644 1 4 5 5 7 7 7
= = [ 457,576 13 26 29 30 32 33 32
/N INC¥:Niy 1,650,788 224 429 436 455 466 468 479
/N 8 304,096 8 23 22 22 23 23 25
/N =3 263,260 6 15 15 16 18 20 18
/N EE 514,270 33 56 57 61 61 64 66
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XEDOB | (H22F10AFER) | 4134810 5 85 5 |H26 410 5 B 5 | H274E 10 A B 15 | H284E 10 5 B 5 |H204E 10 B B 25 | H30E 10 BB 5 | RISE10 8 Bes

/N =R 128,336 2 5 7 8 8 8 8
I]u} \WAAFF 313,239 24 53 55 59 65 65 65
o i 257,503 15 27 26 29 29 30 30
ii]u} #* 95,839 1 4 4 4 4 4 4
o HE 236,858 7 16 16 16 16 15 15
o TE 280,947 21 40 42 41 43 42 43
o F 266,952 7 1 13 14 16 19 19
FE L AT 1,031,648 159 306 319 329 334 343 349
FE L =11 639,233 10 28 31 34 38 38 37
FEl L R 33,870 0 2 1 1 2 1 1
FE L b1} 240,525 5 16 16 14 17 17 17
BE SEAT 239,829 10 32 34 31 31 30 30
BE - 108,737 3 10 9 7 6 6 6
BE *F 240,101 12 25 25 27 27 29 29
WL WIIAT 312,356 15 43 49 50 53 55 58
T HE 209,481 4 1 1 1 1 10 1
T JEM 108,620 2 7 8 7 8 8 7
WL Y] 65,252 1 7 8 7 7 7 7
WL it 21,688 0 1 2 3 3 3

2 e 1BRE AT 2,495,840 450 791 835 876 911 936 974
2 e RiF 187,944 8 17 23 21 20 21 20
2 e EA 113,457 2 6 7 10 12 11 11
2 e =111 134,548 1 5 6 6 6 6 6
12 e INE 1,117,725 101 171 178 181 188 198 208
12 e 175 189,264 3 8 8 8 10 10 9
& ABK 407,825 40 70 73 78 77 79 82
2 e Hl 163,905 2 4 4 4 4 4 4
2 e AXEH 123,638 6 9 9 9 8 9 10
2 e I\%& 137,822 0 6 6 6 5 4 4
&8 EEARFT 475,657 32 Al 74 75 76 78 80
&8 i 240,826 3 13 14 13 14 14 16
&8 EiE 133,305 5 11 11 11 13 12 12
Rig RIBAT 516,411 48 88 92 94 97 95 97
Rig A 240,172 5 16 18 16 18 19 18
Rig BR 145,063 0 5 5 5 6 5 5
Rig R 338,603 13 32 28 31 30 31 30
Rig TR 60,050 0 3 3 3 3 3 3
Rig Elk 29,377 0 2 2 3 2 2 2
Rig k= 62,696 1 2 2 2 2 2 2
Rig 515 34,407 0 2 3 4 3 2 2
X5 KAARFF 695,567 54 116 123 126 129 127 125
x5 HrEE 92,306 0 2 2 2 2 2 2
X5 i 169,415 8 15 16 17 18 18 16
X5 =]::] 98,415 3 4 5 6 6 6 6
X5 T 63,875 1 3 2 2 2 2 2
PN &8 76,951 1 3 3 3 3 3 3
REAR REARAT 1,093,533 105 223 234 236 244 249 249
REAR 4 168,821 1 5 4 4 4 6 7
REAR IR 105,585 0 3 3 3 3 3 3
REAR BAI % 61,044 0 3 2 3 3 3 3
REAR I\f% 196,337 6 9 8 9 1 1 1
REAR A& 94,727 0 2 2 3 3 3 3
REAR RE 97,379 1 5 5 5 5 5 5
ERS BREXT 734,341 76 153 157 160 170 178 176
BRS & 118,773 2 5 6 5 5 6 6
BRS JIIP-F N 243,195 1 7 8 10 1 9 12
BRS ME 145,803 0 3 4 4 4 4 4
BRS A 213,578 1 5 5 5 5 5 5
ERS EE 250,552 1 9 9 10 1 10 10
=% EUEA T 535,719 41 100 103 104 105 105 104
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XEDOB | (H22F10AFER) | 4134810 5 85 5 |H26 410 5 B 5 | H274E 10 A B 15 | H284E 10 5 B 5 |H204E 10 B B 25 | H30E 10 BB 5 | RISE10 8 Bes

=% A 78,142 0 3 3 2 2 2 2
=% 137 274,278 5 13 14 14 16 15 14
=% HERE 247,094 5 9 1 14 15 16 16
Eili§ BAT 707,219 152 191 190 198 203 201 208
Eili§ s 452,078 21 37 38 41 45 45 44
Eili§ 2 127,813 5 4 6 6 8 8 9
AH TR 53,270 3 5 5 5 4 4 4
Eili§ HiE 52,438 3 5 5 5 4 4 4
=y (=¥ 54 1,490,098 208 371 394 390 397 405 415
=y KR 183,679 1 6 7 8 8 7 7
=y )il 285,721 3 9 1 1 12 12 12
=y Bk 83,969 0 3 3 3 3 3 3
=y a% 213,780 5 1 12 12 13 14 14
=y SALE 90,918 2 5 6 8 8 8 8
=] BEART 463,205 30 52 55 56 60 57 59
=] EBLL 546,963 31 59 63 69 68 67 64
=] =k 194,962 4 10 11 11 1 1 1
=] REEN 291,944 7 11 11 11 1 12 13
=] LhE 415,071 13 33 37 35 38 38 40
=] A5 116,919 3 11 10 13 12 13 13
LT \WIRS AT 563,473 35 62 64 65 65 64 66
11} FE 84,319 3 4 4 4 4 4 4
LT *iR 226,989 2 10 9 9 9 9 1
LT st 144,354 6 8 8 8 8 9 9
LT B 149,789 6 8 9 9 12 10 10
235 BEREAT 481,699 32 61 62 63 64 64 61
235 (=3 201,178 3 12 13 13 13 12 13
2453 -F 123,110 0 3 3 3 3 3 3
235 EH 84,181 2 4 4 3 4 3 5
235 =i 92,694 1 5 5 5 5 5 4
BEFE —H 206,214 5 1 1 1 1 1 1
2453 7KiR 141,071 2 3 4 5 5 6 6
1 E EART 416,186 35 48 50 50 54 53 55
#E R 90,028 1 3 3 3 3 3 2
#E it 112,773 3 4 4 4 4 4 4
hE PN 158,587 3 8 8 7 7 6 6
#E BF 168,880 2 7 6 6 6 6 5
FhE Kith 139,543 4 6 6 5 5 5 5
= BHANT 471,156 23 50 50 49 49 47 48
H AR 159,044 0 5 8 7 6 4 5
H BhAT 290,115 6 19 18 19 19 20 21
H I\F 289,641 11 32 32 32 33 32 30
H +#1H 163,383 0 8 9 10 9 9 9
A% ALIRA T 2,342,338 312 661 693 707 731 749 755
A% ERIR 181,886 1 3 4 4 4 4 5
A% NI 115,613 1 2 3 3 3 3 3
A% =l 219,607 4 7 8 8 8 7 9
A% HINE 196,682 4 9 12 12 12 13 12
A% S 75,321 1 3 3 4 3 3 4
A% g 164,375 4 9 9 9 10 1 1
A% E=10) 60,091 0 2 2 2 2 2 2
[ EEEART 442,467 24 47 49 53 53 52 51
BEEE TE 35,872 0 2 2 2 2 2 2
B TBJIAFF 487,490 27 57 59 61 64 63 65
B B 86,897 0 3 3 3 3 3 5
pH]]] Al 38,153 1 3 3 3 3 3 2
pH]]] B 46,241 0 2 3 2 2 3 2
B N 65,044 1 2 2 2 2 2 2
3% HIBRAFT 247,320 13 27 29 28 28 29 29
3% LS 348,597 9 26 27 30 29 29 29
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XZEDBFE | (H22FE10ABFR) | 4134810 5 B 5 |H264E 10 A B | H274E10 8 B 15 | H284E 10 5 BS /5 | H294F 10 B B 5 | H304E 10 BB /5 | RIAE108 BE
3% HE 71,885 0 2 2 2 2 2 2
Fi}2:3 F[4) 199,971 3 1 1 1 12 13 12
I3% RE 80,569 0 4 4 6 6 6 6
=LA BT 593,743 67 131 136 136 138 140 141
(ST A& 270,897 14 28 28 28 28 27 28
=LA BF 131,202 2 5 6 6 8 7 7
] ASAT 589,104 52 82 83 85 91 85 84
EE BAI 108,418 0 4 4 3 3 3 3
EE x5 87,969 0 3 4 4 3 3 3
= EEHAT 528,247 50 75 77 79 80 79 81
= Al 88,231 1 3 3 3 3 3 3
= TR 53,576 0 4 3 3 3 3 3
= &t 94,402 1 5 4 3 3 2 3
BiR LA FF 652,485 64 110 110 112 17 120 120
BIE KM 114,454 2 6 4 4 4 5 5
BIE [iE3 324,013 1 18 19 19 18 16 16
BIR iR 174,180 7 14 16 16 15 14 16
BiR FHE 166,361 5 10 10 10 9 9 9
&t 128,057,352 18,929 34,995 36,373 37,607 38,870 39,960 41,051
10AKHD K ER 155 12 111 105 103 103 103
X BIERAN,
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